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Question |CAN refers to
CAN &T H39 ¢ -

A Computerised Area Network

HIUTehIehd &1 siedeh g

B Campus Area Network

T T Acas

C Campus Automated Network
IR Fagafad  scas

D Computerised Architecture Network

HIUThTehc JTfeheeFe] Heah

Answer |B
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Question

Which program is not related with IFLA?
fArAfaf@a # @ Silgar WA [FLA 9 §9fOd 767 8

A UBC
g & ar
B UAP
g T
C PAC
9r T ar
D Pre natal catloguing
W A dhealiare
Answer |D
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Question

Which part of new encyclopedia Britanica is useful for ready references?

fsrerforent faeaenter &1 i T doshiel Heot o folw 3ugerd ¢

A Macropaedia
Hshrdifsar

B Propaedia
grdifsar

C Micropaedia
HIIshIASaT

D Premedia
I IER

Answer |B
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Question

Which libraries are functioning as depository libraries?
I) Delhi Public Library
IT) Connemara Public Library
I11) British Council Library
IV) Centrel Reference Librar

g Fiaar gaed $sR EUIE) TUeT & 9 J F
Ll § -

1) fiGoel SeTdl Tty

IPIAART AT TATT

[nfsfeer dledter  TATT

IV)JeTadl G AWy ) T

A I, III, IV are correct
I IIL, IV T §

B I III are correct
1,11 &g g

C I, II are correct
1,118 8

D IL, III are correct
I0, 111 &gT &

Answer |C
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Question

Consider the following statements:

I) The maintenance section should be in near place to stock room, reading
room etc.

IT). The entire stock room covered by maintenance section, for renewal of
damaged book.

fFrfaf@d aeg & TR W @6 29T g
[) GURUT &7 HBR H&T UG drded a7 TG & AT glell
IR |
I1) &7 GEcehl & SWHTS 8 HURUT FaT HISR Fel &
I gl TR |

A Statement 1) is true II) is false
) J@Er 3R 1) T &
B Statement [ and II true
1) 3R 1) e TEr g
C Statement I and II false
1) 3R 1) et ITeld @
D Statement [ false II true
D rere AR 1) T E
Answer |B
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Question | PRECIS was developed by in 1971
¢RW¢ H PRECIS (NfAH ) ---- & GaRT a&nfad fohar ar=m
A British National Bibliography
fafeer Usdr |@est g
B Indian National Bibliography
HRAT TeqT el i
C UNESCO
AT
D Library of Congress
SIS 3% HidisT
Answer A
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Question

Which of the following are news summaries?
1) Data India
i1) Times of India Index
i11) New York Times Index
1v) Asian Recorder

TAAR TRTRNHIOT &7 HH fAFaielidd garT fhar Srar 8-
1) ser sf3ar

(1), (i1) and (iii) are correct

(i), (i) 3R (ii))qEr &

(i1)and (1i1) are correct

(i) 3R (ii)@Er &

(1), (111) and (iv) are correct

(i1), (iii) 3R iv) F&r ¢

(1)and (iv) are correct

(i) 3R (iv) FET &

Answer

D
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Question

Which is National Library?
faf@a & & TS JATIT ( National Library) 8T & -

A Anna Centenary Library

HIUOT Heo T ATl
B Library of Congress

STISHY 3% Hidiol
C Anna University Library

3mouT faRafdedrerd ey
D British Council Library

fafeer sifeaer TureT
Answer |B
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Question

A common test in research demands much priority on

A 38Ul # Arfai@d g aavd: 3maeas ¢ -

A Reliability
[ERERGIRGI)

B Useability
39gerddr

C Objectivity
aEJfASSAT

D All of the above
g T

Answer |D
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Question

In which law “Guidance to uses in the use of library”

Pt siear Fga durerT FHE 8 9Ivd 39ged ©

A First Law of Library Science
HEE ol 3H IS TeH

B Third Law of Library Science
S o A% A "

C Fifth Law of Library Science
oy &f 36 sl =F

D Second Law of Library Science

Tchg of 3T s A

Answer

D
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Question

Physical condition of the books should be property maintained. This is
known as

Q&R HT Hifaeh HaTAT e F A FA0 IWT Y FAT Fgalldl &

A Collation.
{odTcHSh AT

B Conservation
qEh HIETOT

C Shelf-arrangement
EIY-cIIEYTYeT

D Organization
HIST

Answer |B
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Question

Gate register of library shows

e gi¥er (Ie Ao ) Fr 3T §

A to find the user name
39T 3l H Tt
B for name sake
Shdol ATH fAgerT
C to know the total user strength per day
SRt SR ell3h A For Fear g &
D Check the library staff
IFUTET FHAANT HE&AT
Answer |C
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Question | Which of the following is not a circulation procedure?

fafaa # & Fiadr [Ador cgaeam =6r g ---

A Registration of members
TGET GollehoT

B Charging of overdues
Jfaeas Yoh

C Renewal of books
qEdh sTdehIoT

D Preparation of shelf card

AoH FHS dIR HIAT

Answer |D
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Question

Who was the first Librarian of Imperial Library, Calcutta?
Folehdl EUd TFAIR3TS TATST & TUH JAT o -

A John MacFarlane
.

B Hrinath De
gReTY 3

C B.S.Kesavan
& T S

D S.R.Ranganathan

TH 3R WA

Answer

A
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Question |Indian Science Abstract is published by:
AR faa OR (333« aed Heardae) AraAfal@a ganrr
TR &

A DRTC
ST RS A

B ILA
. TA. T

C ICSSR
3. I T T 3R

D INSDOC
3T TS TE. SO0

Answer |D
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Question

How many fundamental categories did Ranganathan identify?

WY & (AR fhdel Hors[d a9 &

A five
g

B two
ar

C Six
S

D Four
EIES

Answer |A
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Question

In 1966, the MARC as pilot project was launched by:
ol $REE H AT ( MARC) SITHS TAIEh GRS HeATai@d

GaNT HRIAT $r 15 oA

A OCLC
OCLC
B Library of Congress
ISR 376 A
C The British Library
g. fofeer sl
D Americal Library Association
ARG oIl rafawerd
Answer |B
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Question

INSDOC comes under
INSDOC & it a3y ear &

A DST

B UuGC
C AICTE
D CSIR
Answer |D
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Question |What is Index India?
HRAT G (Index India) T ¢ 2

A Abstracting Service

B Reprographic Service
Iranfthes dar

C Indexing Service
SHEFAT e

D Translation Service
Jegare Ha

Answer |C
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Question

The essential qualities of a researcher are

MUl & 3TaRTh 0T §

A Spirit of free enquiry
foTsuaT Qmer T g
B Reliance on observation and evidence
Haellehel 3R @& W feiar
C Systematization or theorizing of knowledge
SO ATl AT AHCT ATl Sl GATOIT hlall
D All the above
s Tl
Answer |D
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Question | WIPO is located at
WIPO f&ua @

A New York
=g

B London
CEG

C Geneva
fSteteg

D Paris
gy

Answer |C
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Question

“Pro Quest” is

------ @ISt (W FIEC ) HT 8 & 2

A Traditional Commercial Publisher
ORI A0 Jehrereh

B Scholarly Society Publisher
facarer "t Yehrereh

C Electronic Aggregator
Soldgifeleh UITIe

D Publisher of Higher Learning Institutions

3= fATOT TEATAT & USRIk

Answer

C




Id 23
Question | Which Law of Library Science emphasise the need of Library Building?
QeI & AT & TIU A Sl (FFH ) HT 3TaRTehdr § 2
A First Law of library science
Ugell &l dsell Ad
B Second Law of library science
CET ol WSl |
C Third Law of library science
AT o STSsT "
D Fourth Law of library science
AT AT AT HIH
Answer |A
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Question | Which one is not service of circulation section ?

fFFfaf@a & @ Hlaar v 7T dar &1 FER A Pl -

A Binding of book

STSTSIT g

B Lending of book's
3UR g%

C Renewal of book's
qEdeh T TdIhIoT

D Discharging of book

qEdh T GERG

Answer |A
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Question

An online search in which all aspects of the records in natural language may
be used as sought terms is

Teh HieTelsel @il [ aa Trehfaeh omeT & Repls & @efy agef3it &
39T fhAT ST FehdT & SHET o AT i 318 eaf 7 &

A Alphabetical collateral search
quTATET HuTfRdess @ief
B Multi aspect search
9g Jec] Wl
C Free text searching
AF 96 TSl
D Streaming search
e @e
Answer |C
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Question

What is the symbol used in CC Ed 7 for indicating anterioring common
isolate?

CC Ed 7% Yqdelel 3TH el &l Hebd T §

A Double inverted comma (,,)
Sl 3eler TeUialH (,,)
B Equal (=)
ST &7 (=)
C Plus(+)
Celdl (+)
D Dot(.)
&g ()
Answer |A
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Question

Internet filtering is

Se¥eic fhoeaT &

A A form of cencorship
HERAT &7 &9 §
B Acceptable user policy
ey 3greTeRdr fAfd
C Access to inappropriate material
D Blocking internet facility
3a%Ee el glar
Answer |A
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Question | What are the four entitites of FRBR model?
FRBR #HSel (7T )& TN YU Teh § -

A Personality, Matter, Energy, Space
giaded , 9T, ST ,3aRaT

B Books, Form, Availability, Type
q&dh , &, 3T , bR

C Work, Expression, Manifestation, Item

D Discipline, Entity, Action, Personaility

IR |, 3T , Ffd |, shfFdca

Answer |C
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Question | When Madras Public Library Act was introduced?

HGTH HTdollielh qEaehierd HTUHIH e o] g3 2
A 1939
B 1940
C 1948
D 1946

Answer |C
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Question

Who is the father of Library movements in (U.S.A,), America?

ARSI JEIHTTL 3fTeToleT o Sleleh hiel g ?

A J.D. Brown
c ICIC I
B H.E.Bliss
a3 feo@
C John Paul Otlet
SileT Glel 3icelc
D Melvil Louis Kossuth Deway
Aordlel o[sH P Sd
Answer |D
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Question |Glossary is a:
Y & T g ----

A List of technical words with definitions
ARSI & AU dehollehl Qrsal T T

B List of words in a language
e ST 3 arsat Y Ry

C List of thematically arranged words
fAwIeTT §9 cgafeyd erser i g

D Alphabetical index to passages of work

A & IR gl & Tolv quTATeT FThih

Answer

A
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Question | Who categorized information sources into conventional, non-conventional
and micro documents?

fraet aRAIR, I IRUR , TauRURS 3R geA gEdaEdar &

qaeT et @ el R
A Ranganathan
LITAT]eT
B Bradford
SIShIS
C Grogan
et
D Henson

godeT

Answer |A
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Question | Expand ARPA Network

ARPA T A& &
A All research Projects Agency Network
B Advanced Research Projects Agency Network
C Advanced Review Projects Agency Network
D Advanced Research peer Agency Network

Answer

B
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Question |In which year was UGC INFLIBNET established?
UGC INFLIBNET & a¥ ¥1fid famar arr

A 1973
B 1988
C 1982
D 1973

Answer |B
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Question | Which Section of AACR-II (R) deals with serial publications?
AACR-II ® ST @i T HTET YRTATeh TR & 9T &

A Part - A, Section — 3
ATIT A, 3TeATIT -3

B Part — B, Section — 3
AT B, 3TeTHTIT -3

C Part - A, Section — 12
ATIT A, JAHTT - 12

D Part - B, Section -12

AT B, 3T - 12

Answer |C
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Question | What is/are common feature/s between RFID & Barcode Technology?
1) Read more than one item at a time

i1) Able to locate specific items on shelves

1i1) Programmable

iv) Read, While item is moving

RFID 3R SR&IS Iedifihr & AT faware sl g
i) Tk OHAT H T O 31 AT gg

ii) TATRAY H fARISE TEI3IT T Iar T A FaTH
iii) 9T AT

iv) ITAHAT TEI3T T TeelT

A (1), (i1) are correct

(i) 3R (i @Er

B (111), (1v) are correct

(iii) 3 (iv)&er

C (1), (iv) are correct

()3R (iv) Far

D All the above are correct

3ugad Al wer

Answer |D
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Question | Which of the following are the types of factors studies under ANOVA?
i) Fixed
i1) Frequency
111) Calculated
1v) Random

ANOVA & 3did fasaifof@d Slad yerR &1 3reaa« giar &
INGIFEG]
ii) 3T
iii) gRerfeTd
iv) I

(i1) and (ii1) are correct.

(i) 3R (iii)Fer

(1) and (iv) are correct

(i) AR (iv) T

(1) and (ii1) are correct

(i) 3T (iii) &Y

D

(i1) and (iv) are correct

(ii) 3R (Gv)&er

Answer

B
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Question

Arrange the following according to their year of origin:
1.) Indian National Bibliography
i1.) British National Bibliography
111.) Comulative Book Index
1v.) Books in Print

3¢l a¥ & IR fAEfafed gaer & sageedr i@ |
I) HRAT TET FAG

ii) ferfeer Tsérar arage

iii) T TEdh FIRD

iv) FehIRIATY J&cTeh

(1), (1i1), (1v), (i1)

(1), (1), (111), (iv)

(1v), (i), (11), (1)

o Q| w >

(111), (1v), (11), (1)

Answer

D
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Question | The Farmington plan is associated with:
BIiETes Aol FEfaf@a & oo &
A Library Legislation
TATT Hlefsl
B Library Cataloguing
T A
C Library Cooperation

AT AT

D

Library Indexing Service
qEARITT 3eThACT Har

Answer

C
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Question |SDI service 1s a/an
SDI --—-- T HaT &

A Group Service
JHg Qar

B Individual Service
gfFdTd ddr

C Parallel Service
3T®Y {dl/ AR Far

D Retrospective Service
T Qe

Answer |B
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Question | Who is the Secretary of the College Library Committee?
JATST FIATT T TG SieT glaT g 2
A Principal
AT
B Vice Principal
39 JUTATITY
C Librarian
pUEICH
D Assistant Librarian
HeTdeh JUUTel
Answer |C
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Question

The process of establishing headings and providing 'Cross references' is
called

MY ar TATT et 3R 9fd TET Ueia aar 1 9ihar & &ar
gl ATl &

A Access points

B Headings
NINED

C Authority control
SR faz=or

D Bibliographic Records
FAGT

Answer |C
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Question | Thesauro facet is
R BT &

A Indexing tool

3'|°::|,9|°J-IUI YVl

B Abstracting tool
ki GRERETU]
C Book selection tool
J&Th T 3T
D Reference tool
TeaT U0
Answer |A




Id 44
Question Bibliography is a systematic list of all the books published all over
the world.
TUG gferar #x & Th1iAcd Gl GEcToh! ol Teh cqaiedd i 8
A Systematic
JThH
B Trade
<Y
C Universal
CIECED
D Descriptive
quTeTcHS
Answer |C
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Question | How many entries are there in CCC (Classified Cataloguing Code)? Entries
(Eg.) Leading Section, Title Section, Head Section Etc.

CCC gl wfafse #rs & fardel gfafear & - 3ar. 3raroft regermer |
MR ITHTET |, JHE AT 3T |

A 4 Entries

IR yfafsear
B 3 Entries

dier gfafsear
C 5 Entries

g gfafsear
D 6 Entries

og ylafsear

Answer |D
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Question

What is the chief record in the library?
TYTIT H AT AT FT § 2

A Catlogue
Iy g
B Accession Register
qREIgoT giIehr
C Collection Register
OIS IEED
D Shelf list
HelART i
Answer |B
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Question |How is stochastic equation of information solved?

AT & TehiEesh THHIOT I hdd gof fohar Sirar g2

A By statistical rules
B By dynamic rules
aifaelier AT garn
C By statistical and dynamic rules
Hifad vd afaier BraAr ganT
D None of these

$IH § HIT Tl

Answer |C
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Question

Package libraries are one of the activity of

Jehol GECehleral i Afdiat & & T ¢

A Extension service
faFdr dar

B Lending service
3UR o T Jar

C Research work
ST

D Reference work
TGH T

Answer |A
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Question |Indian Copyright Act, 1957 came into effect from

HRe gfafercaaer sfafaas 1oy e @mp g3m

A 1958
B 1959
C 1960
D 1965

Answer |A
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Question | The following is a collaborative network of Reference Librarians

f=fof@a Awea  omsafad) Tesr  Irdrer &1 U dgaet
dcas g

A Worldcat
O‘ g \J

B INDEST

g3TC

C Question point
FYRAT TS

D Global scholar
Tl Thiol

Answer |C
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Question |CCF stands for:
CCF&T 3719 g

A Common Communication Format
A FFYfADAA BRHAC

B Centre for Communication Format

T BN YAl HRHAC

C Committee for Communication Format

HIAT BN FFYfADAT BRHAC

D Common Curriculum Format

HIAA HRFGeTH BRHAC

Answer |A
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Question

Who has evolved 'Bureaucracy model' of organization?

IS 1 U A Al ArAfaf@d # & frae daR e

A John A. Veig
Silel T dI7

B Harold Laski
glies oI

C Max Weber
HFg de}

D Joseph Massie
Sraw Har

Answer |C
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Question |Match the following:
List-1

A. Trade publisher

1. UNESCO

B. Subject book publisher

1. American
Psychological

C. Government Press

11i1. Harper Collins

D. Scholarly Publisher

1v. W.B. Saunders

gAfad Hifsw
T 1 T 1
A) SAUR JehTeld i) gfeTEent
B) [awa Y i) 3TARST
AThlcl folehel AIATIET
C) ATHRIT HGOMeA i) FTUR Hlelled

D) fdcare gehrered

iV)?:W{I'\ﬁﬂ' Hiesd

A—-i,B—-1v,C—1i1 D—1i

A—iv, B —iii, C—i, D —ii

A—1i,B—iv,C—iii, D —ii

o a|m | »

A-1i,B-1v,C—-1,D-1i

Answer

D
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Question

Who has developed World Wide Web?
gs dIss d9 Tohdsl aATdr &

A Tim Berners-Lee
OH oA ol

B Bill Gates
T IcH

C Balagurusamy
STITIEEATAHT

D None of the above
SR & g ALl

Answer |A
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Question | The standard size of a catalogue card is

HEAN(FATT) FHTS I AlAh IR § -

12.5cmx 7.5 cm

12cmx 7 cm

Ilcmx5cm

o O w >

10cm x4 cm

Answer |A




Id 56
Question | What is a bug?
A Computer Virus

FFCYCY ATAA

B Error in Computer Configuration
HFYR fawara $r I

C Error in a Programme
s # 38

D None of these

$TH § FIT TG

Answer

C
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Question

Which law of library science promotes reading habit?

qETRICrT T T HiTdl IH oot &I 3HTed HT d¢rar ol @

A Fifth
qradr
B Fourth
arr
C Third
TR
D First
qgoll
Answer |D
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Question

Who publishes Science Citation Index?
faTel 3TEIUT Faeh 3ieh (AR-H AU SSFH ) el FehiAd Il

A Institute for Sicentific Information
SEITYC BN AEThar SehiNAle
B Oxford Press
HiFaws 98
C Wiley
drelr
D Clive Bingley
Follsd didel
Answer |A
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Question | What is the another name of Added entries?

Siig gfafse & wfafse & fow @ &1 a1 &

A Main entry
ATy glarse

B Cross reference entry

SIH Hel giafse

C Secondary entries

efad yfafe

D Subject entry
faw gfafse

Answer |C
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Question

The terms communication came from which language?

ToYuT ( communication) Asc Thg HTST & 31T %

A Greek
By

B Latin
offeet

C German
STHA

D French
T

Answer |B
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Question

In which city, Arab Economic and Social Development Summit was held?

fora ey & 3RT 3P+ 3N FETfSId o RIER ge e I«

83T &7
A Tunis
g
B Cairo
HIS
C Doha
argr
D Beirut
a%d
Answer |D
Id 62
Question | According to IMF, India's Gross Domestic Product Growth Rate is expected
to  inthe Financial Year 2018-19.
MEUATH & IHeTER, T a¥ 2018 -19 H R &l Hebel o]
3cde @ gfeg & el & AT ¢
A 7.5%
B 7.3%
C 7.7%
D 7.0%
Answer |B
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Question

World Economic Forum (WEF) annual meet was held in Davos, Switzerland.
In which year, WEF was formed?

dos Fhlellieeh BRA (SeolgUh) HI AN Joah [Facaels & grad
H IMAET g5 €1 5 a¥ 7 Seeguh T oA g A1?

A 1970
B 1971
C 1972
D 1977
Answer |B
Id 64
Question |Indian Navy conducted a Coastal Defence Exercise along the entire coastline
of the country. What is Name of this exercise?
HRAG Qe S 1 YT W1 & TTY T dT @I 38T
IMANTST R 3T 3791 FT A7 AT 87
A 'Sea Cover 2019’
G Az 2019
B 'Sea Kiran 2019’
& fRToT 2019
C 'Sea Eye 2019’
dr 3T 2019
D 'Sea Vigil 2019’
dr fafarer 2019
Answer D
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Question

Where is the Headquarters of World Economic Forum (WEF)?
fae e HY (SsIgUR) T HEITT Fgl 2

A Geneva
Sletdr
B Vienna
[Epe)
C The Hague
8T
D Paris
oRT
Answer |A
Marks 1
Unit Semi_Professional Assistant - GK
Id 66
Question |In which year, Indian Coast Guard (ICG) was established?
fore a¥ F HRCA dT TETH (3MSHIS) H T 75 A
A 1970
B 1978
C 1976
D 1974
Answer |B
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Question

Which country’s central bank has banned the use of Indian currency notes of
Rs 2,000, Rs 500 and Rs 200 denominations?

P 221 & T d& 2,000 TUA, 500 T9F 33X 200 TTX
Hoddd & AN HaT #Alel & 39deT W gfafdtr o fear §7?

A Myanmar
FITAR

B Bhutan
Sl

C Sri Lanka
HreTent

D Nepal
AqTeT

Answer |D

Id 68

Question |In which city, Indonesia Masters Badminton tournament was held?
fora ereX & SRR ARy dsfHes At A garm 82

A Bogor
CIE/IRg

B Jakarta
STehIAT

C Jambi
SITFET

D Palu
RGN

Answer |B
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Question

National Company Law Tribunal (NCLT) has approved the merger of
TataTeleservices with

AT YA ol TCeeTol (VAT )ol
cAfaaE & o & FAofll ¢ 4 g

& GTY TIer

A BSNL
dITgTAT
B Telenor
feaar
C Vodafone Idea Limited
arsmhler 3msfsar fafAcs
D Bharti Airtel
AR T
Answer |D
Id 70
Question | Who has been awarded Saraswati Samman, 2017 for his poetry collection
“Vakhar” in Gujarati?
fohgen IORTN & 3 Hfadr dag "arR" & faw 2017 % faT
TETAT FFATT F GFATfed fohar arar g2
A Govind Mishra
afde fasm
B Veerappa Moily
drRear Argen
C Padma Sachdev
qeHT HAGd
D Sitanshu Yashashchandra
ey e
Answer |D
Marks 1

Unit

Semi_Professional Assistant - GK
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Question

The value of  V2*+364+4y2° is:
V2 +364+42° T AT FIT §

A 12

B 16

C 18

D 24

Answer |A

Id 72

Question | A discount of 2%% is given to the customer on the marked price of an
article. A man bought the article for Rs.39. The marked price of the article is:
Ueh 9Tgeh I Teh HIAT & 3ifehd Hed W 2%% &I ge & Sl ©
| 9€ AEH Rs.39 H 5T AT Hl @GAT g, df 3T TTHATA HI 3ifohed
Ao AT 2

A Rs.42

B Rs.36.5

C Rs.40

D Rs.41.5

Answer |C

Id 73

Question (Ifa:b=7:9andb:c=5:7, then whatisa:c?
gfe a:b=7:93-ﬁTb:c=5:7,FlT a:codr @W?

A 5:9

B 3:5

C 7:21

D 7:15

Answer |A




74

Question

What are the roots of the equation log,,(x*—6x+45)=27

HHIHIOT log,o(x*—6x+45)=27 % Hel 4T %

A 9,-5

B 9,5

C 11, -5

D -11, 5

Answer |C

Id 75

Question | A can do a certain work in the same time in which B and C together can do
it. If A and B together could do it in 10 days and C alone in 50 days, then B
alone could do the work in
B 3iRC fAde & &7 & fGda et & a9 § 3aa fear #A
3ol 3 HIH A HT Fhdl § | I A 3IRB fAE 38 FIH HI
10 et A X Fohd § IR C el 38 &IH & 50 &aAT # T
TehdT &, dlf B 37ehel 38 HI1A &l fohdel TFAT H WM

A 15 days

B 20 days

C 25 days

D 30 days

Answer |C

Id 76

Question | Warning! No unauthorised personnel .............. this point.

A about

B from

C beyond

D on

Answer C
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Question | In order to know the correct pronunciation of English words, the learner should

A Know how to write the words

B know the spelling, meanings and how they are pronunced

C know the meanings only

D know the spelling

Answer B

Id 78

Question | In the following question choose the correctly spelt word.

A Scripture

B Scriptur

C Skripture

D None of the above

Answer A

Id 79

Question | When you buy a car, examine carefully the important features of the model you are
considering. Many a buyer of the latest model has got into trouble by buying a car too
broad or too long for his garage. Further more, a long car is too hard to manage in traffic
and too difficult to park. Another feature is the comfort afforded. Are the seats nice and
durably upholstered? Is there enough glass to give the driver a god view in all directions,
particularly to the rear? It should be remembered that the heavier and the powerful car is,
the more expensive it will be to operate. High powered motors, require expensive high-
octane petrol. The greater weight means greater tyre wear and enlarged brakes. The old
cliche is still true, it is not the initial cost but the upkeep which matters.
It is very expensive to maintain a large because it

A is heavy

B requires more space for parking

C needs changing its tyres more frequently

D needs more durable upholstery

Answer

C
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Question | Use the verbs given in brackets either in Active or Passive according to sense of the given
sentence.
Do it or you.....(punish)

A will be punished

B would be punish

C will punished

D shall be punished

Answer A

Id 81

Question | Choose the word meaning OPPOSITE to the word: ACCUSATION

A Imputation

B Commendation

C Assertion

D Incrimination

Answer B

Id 82

Question | Select Correct Word

A Consequences

B Conssequences

C Consequeences

D Consequances

Answer A

Id 83

Question | In the question below some part of the sentence has been left blank. Select the option,
which completes the sentence properly taking care of syntax, semantics and meaning.
I did not like what I wore but I did not much care, for I was always of the opinion that

A shabby clothes is beautiful

B real beauty was what lay on the inside

C I will buy new clothes tomorrow

D I was too happy to notice

Answer

B




Id 84

Question | Cacophonous

A Melodious

B Loud

C Sonorous

D Harsh

Answer A

Id 85

Question | The traveller enquired of the potter if he could tell him the way to the nearest inn.

A The traveller said to the potter, “Where is the nearest inn?”’

B The traveller said to the potter, “Can you tell me the way to the nearest inn?”

C The traveller said to the potter, “Which is the way to nearest inn?”

D The traveller said to the potter, “Can you tell me where is the nearest inn?”

Answer B

Id 86

Question | fTrmfarf@d weaT # BT v e # ygad @Y & g&R &1 a3+
39 A BT fdshedl # & SIfSIT]
qRHATAT

A gur &fer

B gTUTo ofer

C gefr Hfer

D &g e

Answer

D
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Question | Grmfafld eee & fw w8 A9 Ry 71w Rwedt & ¥ 39g7a
A BICT
X BeTATT
A FHURY
B ALE
¢ ggeed
D EREIN
Answer BQ
Id 88
Question | rs=grey 3 Flerar 3TTH ¥ 2
A ST
B CIES
C AT
b CIED
A

Answer




Id
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Question |qfagr=l ereg &7 TIT HIAIT -
hHCT

A STefst

5 R

C STeie;

D STelTfer

Answer |A

Id 90

Question Fae orse / udards ase
eyt

A 3Ha=

B &

C EIEE

b A

Answer |B

Id 91

Question ey & Fo FHETT R T ¥ 5 & TF Haed F FAA
e §1 3 g -

A AT

B R

C T

D 2101

Answer |D
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92

Question

fArafafad & & T Use-Efd F1 gag el

A I

B Are

¢ gise

D fese

Answer |C

Id 93

Question | Trsfaf@a weat # Rw av aet & @ 3o # I § 3N 7o &=
g1 AfC arer ey & T3 amer A I 81, 38 AT & e (A,B,C
372aT D) & U IR 1 I g A 5 IR T @ wS IR AET
A IR & T & RAfegd AFT-

A HEIeX Bl gU &

B H @5 ol o,

¢ 3R 39 9’1 9fFes gFafa & w6 §

b FIg 1 7L

Answer

B




Id
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Question

areFaTY & foIv e e Qe -
GIugY & dIg ol A Y|

A fagreT

B ALATeg

C qaTeg

D NG

Answer |D

Id 95

Question | 3yt gls T &, Iy & Hla-adr Trar & 2

A ThaTeh

B SEMIDED

C kicroCy

D i

Answer |C

Id 96

Question |Choose the odd pair group in the following options?
fArafaf@d fawedl & fAve SNEr @ g

A 73-61

B 57-69

C 42-29

D 35-47

Answer |C
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Question

Akshar remembers that the match is after 26th April but before 30th April,
while Suresh remembers that the match is after 22nd April but before 28th
April. On which date of April is the match?

e A e & T FAT 26 30 & a1 JfhaT 30 30 & ggo &,
Stafeh T &l are 8 o A7 22 30 & aTe ofehed 28 3ol & gl
g | & 3tar A R A & g

A 29

B 26

C 27

D 28

Answer C

Id 98

Question | X is poorer than w, but not as poor as B. C is not as poor as x. Who is the
poorest of all?
X, W & 39 & foheq 3daT 309 77gT & e B, C 371 R
T8l § ToIdem X T8 09 HieT §7?

A B

B C

C X

D W

Answer |A
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Question

If in a certain code, LUTE is written as MUTE and FATE is written as
GATE, then how will BLUE be written in that code?

gfe ter fAT¥ad Is &' LUTE ' s MUTE ' d2T FATE ' &"" GATE '
forga §, a9 BLUE '&T 337 sl 9T & &»a for@r sem?

CLUE

GLUE

FLUE

o Q| w| >

SLUE

Answer

A

Id

100

Question

Saumitra starts from his house and walks 3 km towards the north. Then he
turns right and walks 2 km and then turns right and walks 5 km, then turns
right and walks 2 km and then again turns right and walks 2 km. which
direction is he facing now?

TR 3Tl B @ Telell IR HIA § 3R I &1 3R 3 fovelh.
STl & | d9 98 39 a1¢ Hsar § 3R 2 . gord § 3R
a8 39T aT¢ Ao & 3N 5 fohell. Tl § 3R g : @’ Hyeo
aur 2 far. e § | 3R 9T : a0 Fsclr & aur 2 fRel. Tordh @
| 319 351 He fora foor &7 872

North
3dY

South
cfaor

West
i

East

qd

a

Answer

A







